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OEMA B
B1. 2x. BiBAilo ogA. 119 (Eav B€Aoupe............ TWV HOYVNTIKWV TTIOAWV)

B2. 2x. BLBAio o€A. 43 (Elval M/Z HE OXEON wovveveererennee M/Z amopovwong n
Tipootaoiacg)

B3. 2x. BLBALo o€A. 295-296 (tpeic maUAEQ)
OEMAT
1. n=(P)/(P1)=>P=nx(P1)=0,8x100=80kW=80.000W
2. Pgn = P1-P=100-80=20KW=20.000W
3. ns =( 60xf)/P=(60x50)/2=3000/2=1500 otp/min
s=(ns-n)/ns => sxns = ns —n => n=ns — (sxns) => n=(1-s)xns=(1-0,03)x1500 =>
n=0,97 x 1500 =>n = 1455 otp/min.
OEMA A
Al.1:=U/Ry =500/1="500A

A2. Eq = U= (It x Ry) = 500-[(50) x (1)] =450 V



A3, Ti=(Kg)x (D) x( 1) (1)

KAl T, =( K1) X ((D) X Itz (2)

(2)/(1) => (T2)/(T1)= ( K1) x (@) x (Ir2) / ( K1) x (® ) x( Ir1) => (T2)/(T1) = (Ir2) /( I11) =>
lr2=[ (T2)x( 1)1/ (T1) =[ (1/2) x (T1) x ( 1r2)]/ (T1) =(1/2) x ( I11) = (1/2) x (50) =25A
Ee2 =U—[(Rrx It2)]1 =500 —[ (1) x (25) ]=475 V



